10.

11.

COMPUTER SCIENCE

Which of the following set is not empty ?

() {X:Xisaneven prime > 3}

(b) {X:Xisamultiple of 2 and is odd}

(c) {X:Xisanevennumber and X + 3 is even}
(d) {X:Xisaprime number <5 and is odd }

A graph G is called a if it is a connected acyclic graph.
(a) Cyclic graph (b) Regular graph (c) Tree (d) Not a graph

How many words can be formed out of the letters of the word “PECULIAR” beginning
with P and ending with R ?

(a) 100 (b) 120 (c) 150 (d) 720

Let X={1,2,3,....... } be ordered by divisibility, which of the following subset is totally
ordered ?

(@ (2,9, 16) () (3,5, 15) () (2,6,24) (d) (4, 15,30)

A compound statement which is neither a tautology nor a contradiction is called

(a) Contingency (b) Equivalence (c) Condition (d) Inference

Let A;j={i,i+1,i+2,........ }. Thenset {n,n+1,n+2,n+3, ..... } is the of the
set A,.

(a) Disjoint (b) Intersection (c) Union (d) Set difference

An exceptional condition in a computer system caused by an event external to the CPU is
known as

(a) Halt (b) Process (c) Interrupt (d) None of these

If the size of memory of 4K words and each word is of 8 bits, what is the size of address
bus ?
(a) 256 (b) 12 c) 3 (d 32

In asynchronous bus controlling data transfer is based on use of
(a) Clock (b) Sending clock (c) Handshake (d) None of the above

Which of the following is not considered in Booth’s algorithm for multiplication ?
(a) Positive multiplier and positive multiplicand

(b) Negative multiplier and negative multiplicand

(c) Positive multiplier and negative multiplicand

(d) All of the above

In memory a word is retrieved based on a portion of its content rather than its address. This
memory is known as

(a) Associative memory (b) Retrieval memory

(c) Read only memory (d) None of the above
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12.

13.

14.

15.

16.

17.

18.

19.

20.

Which of the following is a type of interrupt ?

(a) External interrupt (b) Internal interrupt

(c) Software interrupt (d) All of the above

A complete graph with 15 vertices has edges.

(@ 15 (b) 120 (c) 105 (d) 210

The evaluation of parenthesis free arithmetic expression

5+3T2-8/4%3+6

gives. (T represents ‘power of” operator)

(a) 14 (b) 78 (c) 36 (d) None of the above

If the post order traversal of tree

gives ab — cd * +, then the label of the nodes A, B, C, ....., G will be

(a) a, —, b7 +’ c, *’ d (b) +’ ) *, a, b, C, d

(C) — 4, +’ b’ C, d’ * (d) a, b7 C, d7 ) *7 +

Which of the following is a non-linear data structure ?

(a) Linkedlist (b) Array (c) Graph (d) Queue
Which of the following is not used for hash function ?

(a) Mid-square method (b) Division method

(c) Folding method (d) Probe method

In which of the following records are maintained in the logical sequence of their primary
key values ?

(a) Index sequential file (b) Sequential file

(c) Relative file (d) Direct file

The command cat > x in unix

(a) 1isinvalid

(b) creates a file x and displays an error message.

(c) creates a file x and waits for the user to give input from the keyboard.
(d) None of the above

In a multiprogramming environment

(a) The processor executes more than one process at a time.
(b) The programs are developed by more than one person.

(c) More than one process resides in the memory.

(d) A single user can execute many programs at the same time.
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

Which of the following scheduling algorithms gives minimum average waiting time ?
(a) FCFS (b) SIJF (c) Round Robin (d) Priority

Suppose that a process is in “BLOCKED” state waiting for some 1/O service, when the
service is completed, it goes to

(a) Readystate (b) Runningstate (c¢) Terminated state (d) Suspended state

Mutual exclusion problem occurs

(a) between two disjoint processes that do not interact.
(b) among processes that share resources.

(c) among processes that do not use the same resources.
(d) None of the above

Choose the incorrect statement.

(a) shell scripts can accept arguments
(b)  shell scripts are interpreted

(c) shell is a programming language
(d) shell scripts are compiled

Each row or record of a relational table is known as
(a) Domain (b) Attribute (c) Tuple (d) Key

In a sequential file records are maintained in the logical sequence of their
(a) primary key value

(b) storage location

(c) primary and secondary key value

(d) None of the above

Which of the following operation of relational algebra, selects certain columns from the
table and discards the other columns ?
(a) SELECT (b) PROJECT (c) DIVISION (d) None of the above

Which of the following normal form is based on the concept of full functional dependency
on each candidate key of the relation ?

(a) 1NF (b) 2NF (¢c) 3NF (d) None of the above
A table space is further broken down into .

(a) Blocks (b) Extents (c) Files (d) Segments

The information is used to limit the amount of recovery operations to be done

following a system crash resulting in the lose of volatile storage.

(a) Log (b) Data file (¢) Check point (d) None of the above

The maximum data rate that a medium of 3 KHz and signal to noise ratio of 30 dB is
roughly
(a) 10 kbps (b) 100 kbps (c) 3 kbps (d) 30 kbps
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(a) 10 kbps (b) 100 kbps (c) 3 kbps (d) 30 kbps
32. Bit stuffing is used to

(a) Pad insufficient information

(b) Distinguish beginning and ending flags from information

(c) Convert 8 bit words into 16 bit words

(d) Fill a data turkey

33. A jam signal sent through a network means
(a) The network traffic is too congested
(b) There has been a data collision
(c) Itistimeto go
(d) The printer’s paper feeder is jammed

34. What is difference between a Router and a Brouter ?
(a) A brouter routinely broadcasts routing information.
(b) A brouter is a basic functionality of router
(c) A brouter can function as a bridge as well as a router.
(d) A brouter is a router that routes signals on broadband network.

35. In distance vector routing, a router sends out information of estimated delays.
(a) Only when there is a change in its table.
(b)  Only when, a new host is added.
(c) Atregularly scheduled intervals.
(d) Only when a new network is added.

36. Which of the following is solution of mobile IP problem ?
(a) Care of address (b) Carefree address
(c) Don’t care address (d) None of the above

37. The solution that satisfies all constraints of the given problem and either maximizes or
minimizes a given objective function is called solution.

(a) greedy (b) feasible (c) optimal (d) ordered

38. The running time of an algorithm T(n), where n is the input size, is given by following :
T(n) =8T(n/2) +gnifn>1

=p ifn=1
where p and q are constants, the order of algorithm is
(1) n? (b) n’ (© n @ a
39. If there is a graph such that there is a unique path between any pair of vertices. The graph
isa .
(a) Mesh (b) Grid (¢c) Tree (d) Bipartite graph

40. Which of the following problem cannot be solved without recursion ?
(a) Tower of Hanoi (b) Fibonacci series
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(c) Tree traversal (d) None of the above

32. fore w1 v foman ST @
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(b) T AT Y IEATA 3R 3 H W
(c) 8o vrsgi o1 16 foe wrsq) § uitafda e
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(c) TEIHHIEEIR | d) FrEFIIRF=EIEER |

34, T U3 3N SIS o & o7 <R BT 8 2
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41.

42.

43.

44.

45.

46.

47.

48.

(©) e (d)  Iudrerd o & RIS A

Statement 1 : In greedy method the input stream is divided into two parts.
Statement 2 : In greedy method, one input is considered at time for decision making.
Which of the following is correct ?

(a) Both Statements are true.

(b) Both Statements are false.

(c) Statement 1 is true and Statement 2 is false.

(d) Statement 1 is false and Statement 2 is true.

Let T,(n) = O (f(n)) and T,(n) = O(g(n)), then T (n) - T,(n) will be

(@ O(f(n) - g(n)) (b)  O(f(n)) + O(g(n))
(¢) O(f(n)) — O(g(n)) (d) None of the above
System testing performed by the development team is called whereas the system

testing performed by a friendly set of customers is called
(a) P-testing, acceptance testing

(b) o-testing, acceptance testing

(c) o-testing, B-testing

(d) P-testing, o-testing

SRS stands for
(a) Software Requirements Specification
(b) System Requirements Specification

(c) Systematic Requirements Specification
(d) None of the above

Which of the following is the most important feature of spiral model ?
(a) Quality management (b) Performance management
(c) Efficiency management (d) Risk management

A group technique that may be used during requirement elicitation to understand the
requirements is

(a) System prototyping (b) Software reengineering
(c) Brain storming (d) System designing

The process through which an existing system undergoes an alteration, to be reconstituted
in a new form, is called

(a) Engineering (b) Prototyping (c) Re-Engineering (d) Debugging

Context diagram explains

(a) The internal view of the system
(b) The overview of the system

(c) The entities of the system
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42.

43.

44.

45.

46.

47.

(d) None of the above

HUT1 ;TS fafer ® 3ge g 1 g 9T A Sier ST g |

HYT2 ;S fafer | v gm | we e bt fvf R 2g et R ST R
fdasRamade ?

(a) QI YT EE B |

(b) I A TTeId @ |

(c) HUT 1 TE R qUTHUT 2 A § |

(d) U 1 7TAd & AT HYT 2RI 7 |

T T, (n) = O (f(n)) T T,(n) = O(g(n)), T T, (n) - T,(n) T

(@ O(f(n) - g(n)) (b)  O(f(n)) + O(g(n))

(©  O(f(n)) - O(g(n)) (d) ST H H HIS T

ECLLTS dm A $ EIE| arefl fireem fEm
HEATA @ WEih Ulgh o EGd g gRI I I areft fRreem fedn
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() Oc—éﬁ%"f, B—%@T

(d) PB-feem, o-2feeT

SRS &1 ATcqd &

(a) TR feamerH Witk
(b) Treew fraamatics TfbfthehyH
() Tomafes faamaica wfafhhym
(d) SWIed T T hIs TE

TSl Higel 1 o8 G 0 A G S S A1 8 2

(a) T[T SR (b) TTHIHY Jae

(c) <&l Je=ed (d) Rew garwed

g @ aweH 2q NeamrRte Sfafies™ § ST shl S deh areft @g fafa g
(a) o e (b) TiReRR feshfafa

(c) SiF TeIfHi d) Ty feamsfm
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48.

49.

50.

51.

52,

53.

54.

T SRIUTY JUMH Tl &

(a) ToEEH 1 AT GIEHI (b) THEH &I 3
(c) Toeen S ufRES (d) ST H ¥ HIE TE
Let £ = {a, b} the Context Free Grammar G

S —bSlaM

M — bS | aF

F— aFIbF I~

describes the language of words

(a) containing aa in them

(b) with even length

(c) starting and ending with same letter
(d) None of the above

A turing machine crashes

(a) If the machine reads all the input characters without traversing some state.
(b) If the machine traverses all its states till the input remains.

(c)  If the transitional function is not defined.

(d) None of the above

The finite automata recognizes

(a) Context — free language

(b) Context — sensitive language
(c) Regular language

(d) Any language

Statement 1 : For push down automata Determinism # Non-determinism.
Statement 2 : For Finite Automata Non-determinism = Determinism.
Which of the following is correct ?

(a) Both Statements are true.

(b) Both Statements are false.

(c) Statement 1 is true and Statement 2 is false.

(d) Statement 1 is false and Statement 2 is true.

The total number of words represented by the regular expression (* + a + b) (* + a + b)
M+a+b)is
(a 8 (b) 15 (c) 16 d 9

Find the output of
# include <stdio.h>
void main ()

{
intk=35;
int *p = &Kk;
int **m = &p;
%M = 6]
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49.

50.

51.

52.

53.

54.

printf (“%d”, k);
}
(@ 35 (b) 6
(¢) Junk value (d) Compile time error
qHT L = {a, b} HIewRL I AR G
S - bS |aM
M — bS | aF
F—aFIbF A
STsq] <hl WTHT <] <h hidT & -

(a) TS aa®l (b) TH TS &
(c) T 3R 31d G &L H &l (d) ST | Y HIE T

Teh R Wl st Bl B -

(a) IR IH TR AR H T FBRCRIEI TR |
(b) afe wefiv eft we aeh ugerdt 8 31t gge s E |

(c) afe ufterd wem uftf@ T 8l |

(d) YU T T HIE &I

FIEATSE TSI T8l 2
(a) ThICRC — o T (b) HICHRL — GAceh HTHT
(c) IR WS (d) IS 9T

FHYA-1 : T S MR o e feetfufism = am-featfafn
HYF-2 : HIEAEE ARMRET & fore A -feetfufsy = feetfufsn
i d s g s w2 2

(a) QI HYUTEE B |

(b) <Ml A TTeId @ |

(c) HY¥A-1TE 2 AU HIA-2 T @ |

(d) HUH-17TeTd § a1 HAA-2 & 7 |

UER S (M +a+b) (A +a+b) (" +a+b) GRI T TH ATt o Iea] <hl T 8
(a) 8 ) 15 ) 16 @ 9

JH13LYE FdTL
# include <stdio.h>
void main ()
{
intk=35;
int *p = &Kk;
int **m = &p;
%M = 6]
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SS.

56.

57.

58.

59.

60.

61.

62.

printf (“%d”, k);

}
@ 5 (b) 6
(c) Seh oy (d) HHITSA <T3H A

Which of the following statement about loop is correct ?
(a) Index value retained outside the loop

(b) Index value can be changed from within the loop
(c) goto can be used to jump, out of the loop

(d) All of these

In which stage the following code
# include <stdio.h>
gets replaced by the contents of the file stdio.h

(a) During linking (b) During execution
(c) During preprocessing (d) During compile
Find the output of

# include < stdio.h>
# define int char
void main ()
{
inti=65;
printf (“size of (1) = %d”, size of (i));
}

(a) sizeof(1)=2 (b) sizeof(i)=1 (c) compileerror (d) None of the above

In C programming language, which of the following operators has the highest precedence ?
(a) unary + (b) = (c) >= d ==

The conversion characters for displaying data item as a floating point value with an
exponent and for displaying data item as an octal integer are

(a) e and d respectively (b) fand orespectively

(c) fand drespectively (d) e and o respectively

In C++, a function contained within a class is called
(a) A member function (b)  An operator
(c) A class function (d) A method

To use a reverse — iterator, you should
(a) begin by initializing it to end ()
(b) begin by initializing it to rend( )
(c) increment it to move backward through the container
(d) decrement it to move backward through the container

A normal C++ operator that acts in special ways on newly defined data types is said to be
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5S.

56.

57.

58.

59.

60.

61.

(a) Glorified (b) Encapsulated (c) Classified (d) Overloaded

What is the actual syntax of destructor in C++ ?

(a) !classname() (b) ~classname() (c) S$classname() (d) @classname()
Uk A a s @RI ad 2 2

(a) <9 Y STET SS9 HH ohi SRR T A1 ¢ |

(b) T H U SS9 HH ol TN [hal ST Hehell & |

(c) 9 ¥ FTE 3T o fATT goto T ST fohan ST Hha 2 |

(d) 3T Tt

form =or A g =i

# include <stdio.h>
BT stdio.h = e ¥ qeeTdl & —

(a) forfer o SR (b)  TlRTeRITH % S
(c) SHARRT % SR (d) TS % NE
HITYE TS~

# include < stdio.h>
# define int char
void main ()
{
inti=65;
printf (“size of (i) = %d”, size of (i));
}
(a) sizeof (i)=2 (b) sizeof()=1 (c) THHBAIL (d) ST H A HIE &

C ST |11 & f 31ioRedi & 9 foresh! galt= s 8 2

@ IR+ (b) () >= (d ==

gfadrees * iy ERE
foreg W @ JTaRee YUTieh o STeT STeRIa ohl SGRIT i ag TN & 3 —

(a) shHRM:edATd (b) ShHI: fdAT o

(c) ShEST: faaTd (d) THEST: e qAT 0

C++ T, Teh I8 o 3T=eX HfEd Her= bl gl ST &

(a) U U B (b) Teh FTRA

(c) Ush FeATH B d) ufafy

f{aﬁ—ga‘(a (reverse — iterator) WW“TW%BT\FTQ, 3ATeh! T
(a) I i 3H YT i o el end( ) &

(b) I[E i 3H YT T o AT rend( ) &

(c) The o HILIH § 1i® I o 7T 38 S@MT

(d) T HIH § i S o foTu 38 Temn
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62.

63.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

Teh G C++ TR SN Fory €9 F T4 qRATT ST TehRI W 1 hidT 8, Hal ST &
(a) TAINGEE  (b) TIPS (c) TFATHBES (d) S
C++ ¥ Tt o1 arfos e w1 8 2

(a) !classname() (b) ~classname() (c) S$classname() (d) @classname()
When a derived class inherits from many base classes, this process is known as

(a)  Default inheritance (b) Multiplex inheritance

(c) Multilevel inheritance (d) Multiple inheritance

Which of the following declares an abstract method in an abstract Java class ?
(a) public abstract void method ( ); (b) public void abstract method ( );
(c) public void method () { }; (d) public abstract method ( );

If an image has a height of 4.5 inch and an aspect ratio of 1.5, then what is its width ?
(a) 3 inches (b) 0.33 inches (c) 6.75 inches (d) None of the above

A 512 x 512 raster requires bits in a bit plane

(@ 28 (b) 210 (© 2 (d 2

The transformation, when applied to any object, results only in distortion of shape is called
(a) Reflection (b)  Scaling (c) Rotation (d) Shearing

The encoding format TIFF stands for

(a) Tagged Image File Format (b) Tagged Image Format File

(c) Transformed Image File Format (d) Transformed Image Format File

The point at which a set of projected parallel lines appear to converge is called as a
(a) convergence point (b)  vanishing point
(c) point of illusion (d) point of delusion

Which condition is used to influence a variable directly by all the others
(a) Partially connected (b)  Full connected
(¢) Local connected (d) None of the above

Which is used to generate membership function in fuzzy logic ?

(a) Approximate reasoning (b) Proportionality

(c) Rationality (d) None of the above
Supervised learning and unsupervised learning are two broad category of
(a) Data warehouse (b) DBMS

(c) Neural Network (d) None of the above

Which of the following deals with the precise model where accurate solutions are achieved
quickly ?

(a)  Soft computing (b) Mobile computing

(c) Hard computing (d) None of the above

In which of the following search agent operates by interleaving computation and action ?
(a) Offline search (b)  Online search
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76.

64.

65.

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

(c) Breadth first search (d) Depth first search

Bluetooth uses __ method in physical layer to avoid interference from other
devices or other networks

(a) FHSS (b) FDSS (c) TDS (d) None of the above
3T g FATH Teh H 3Tk 98 oot ¥ RNEH 313Td hL T&T &1l 3| T shtl 2

(a) Tewice sTefe (b) Hediiay SRR

(c) Tedeldd gRieH (d) TS RN

frafefaa & @ i |1 s TsHdee S word | U T ot sifya aar g 2

(a) public abstract void method ( ); (b) public void abstract method ( );

(c) public void method () { }; (d) public abstract method ( );

Ife Teh U I SIS 4.5 39 8 TUT 37U RN 1.5 B 79 396! e w18 2

(a) 339 (b) 033%= ) 6.75%d (d) ST H A HIE &
T fore @i § 512 x 512 T ohl e i g forea 1 STavERaT 2 2 |

(a) 28 (b) 210 (c) 22 (d) 218

ZrawEvE @ foreft fave W n ffen S 2 @ Faa sl fospa e § oo @ g,
hECAT

(a) Tocieme (b) ThieAT (c) TexH (d) fyfar

FIhITST YT TIFF 1 dicqd &

(a) 7S TSI BISET BT (b) 7S TS BIHE BIEA

(c) TTEHIE U HIsA BIE (d) TTEHIE U B BIE

Teh WSS S8 FHHT=I Soaes Wt firerdt 53 weid 2idl &, shaerrdl & -

(a) THIdSE WTEe (b) AR @R

(c) TATsE 3Th 3o (d) @R AT® feH

3T o g HE <X hl GHTferd v H for® o 1 ST BT @ ?

(@) IRHIS (b)) TISE (©) TS (d) 3§ Y B T
Tofl AR H HFRINT HeAd sl S o foTq fopEent T=m BT 2 2

(a) A Th (b) TURET (c) WAl (d) I9UH H T IS TEI

FUATESE AT AT SHRATESS At e 4 & foheeht g1 =amaes it & 2

(a) SATERA (b) dHwwwd (c) <A eI (d) U  § IS Tl
= 4 9 1, 8T | Ied! | g 8 TH 21d &, 8 Tra-y T@H aTer 3fad Aied @ ?

(a) W|R BT (b) WEEABILT () TSR  (d) W H H HIS Tal

71 o @ fope < o Toie PRI a1 TaRH $reteii o G i Shidl & ?
(a) JMFAATE (b) AT (c) TREETE  (d) SWHLHA
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76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

TEL BRI TUT GER "edeh o GEAI3TGTS § =g o foTu, TRt o H, gy
forfer s e 2 |

(a) WWEWW (b) WHIWW (¢ dw (d) I H B T
TDD — TDMA is a kind of communication.
(a) Full duplex (b) Half duplex (¢) Semi duplex (d) None of the above

GSM is a digital cellular phone system using TDMA and

(a) FDMA (b) CDMA (¢c) QFSK (d) None of the above
Real time transport control protocol informs sender of multimedia stream about

(a) Length of multimedia data (b) Network performance

(c) Voice and data quality (d) None of the above

WPAZ2 is used for security in .
(a) Ethernet (b) Bluetooth (c) Wi-Fi (d) None of the above

The operating system and application stack is added in which level of cloud ?
(a) PaaS (b) SaaS (¢) IaaS (d) None of the above

Which of the following is not a PaaS in cloud environment ?
(a) OS and application software

(b) Database Server

(c)  Virtual Machine (with specified CPU, memory and disk)
(d) Web Server

Which of the following is a major cloud computing platform ?
(a) Microsoft Azure (b) MS-Office
(c) Java (d) None of the above

In which category of SaaS services does CRM software fall ?
(a) Consumer Services (b) Communication Services
(c) Infrastructure Services (d) Business Services

The translation from symbolic program into binary is done in
(@) Twopasses (b) Directly (c) Three passes (d) Four passes

Which of the following table implementation is based on the property of the locality of
reference ?

(a) Hash table (b) Search table
(c¢) Linear list (d) Self organizing list

In an absolute loading scheme, which of the following loader function is accomplished by
programmer ?
(a) Allocation (b) Reallocation (c) Linking (d) Both (a) and (¢)
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88.

77.

78.

79.

80.

81.

82.

83.

84.

85.

86.

87.

A system program that set up an executable program in main memory ready for execution
is

(a) Loader (b) Linker (c) Assembler (d) Load and go
Add-ddwu TR T YHR 2 |

(a) FAGHE (b)) BH g c) Ut gwiam (d) ST T Y HIE TRl

Sft vH wH v fefied degeR wR dA R S fh A S wm v, wam T HLAT R |
(@) TWHHWT (b)) HAwWT ©) FTETWEH () ST HEHE T

IrATeTh THT TEUIE el TIelehled % SR H Aedtifean wiu @ Yweh @l gfad
AT |
(a) HeHITSAT gret 6 oS (b) Rt Tz
(c) —T® Td ST e (d) 3T H | IS A&
¥ geey i T-2 <l I GUer & fru e R |
(a) 3AR (b) A (c) dTE-%18 (d) e H Y B AR
IRETE 3 T UeeA1oha o HYEH bl TS oh fohdl T W1 T@1 ST 8 7
(a) PaaS (b) SaaS (¢) laaS (d) I | Y s A&l
=1 ¥ 9 919 FoT13g Ui § PaaS T8i @ 2
(a) 3T.TH. qUT TeATehI™ HTFea
(b) TTEH T
(c) Tgore wefia (Ffde . d .3, Tyfa Ten fewh < @)
(d) d9HR
71 o 9 o T TS FASE HFRT WICHH & ?
(a) TTSFRIETR 3R (b) TH.TH. 3TTHH
(c) S (d) U | T HIS &I
Saa$ Qa1 hl fore Suft § €Y. 3R TH. FiFeaaw AT 8 2
(a)  SUHIHT HeT3T H (b) FERTaISi H
(c) STSHTEAT Har3n (d) SR Farsh
foreaifores Tium <l A | T geAT AT 2 |
(a) <IUH (b) e (c) dHUIHE (d) =IRIH
1 5 & % i e o1 Toraraem drsbicrel 31ih R shi Jehfd w it 8 2
(a) ‘WA (b) T eEd
(c) fTafrfae (d) T AN fore
TsHIIE ANET Thm | e § | 9 o1 et he T gRT SHIford & 2
(@) TdlhsH  (b) {udE (c) Tafem ) (a) 3N (c) qHI

SPU-37 19 Series-A



88.

89.

90.

91.

92.

93.

9.

9s.

96.

97.

98.

99.

U foen wum S T wfesrageae o s gy R O S R R o fot um @

(a) WK (b) fefot (c) THWR (d) =TS
Fault tolerance achieved in distributed system by .

(a) Hardware redundancy (b) Software recovery

(c) Both(a) and (b) (d) None of the above

The number of results produced per unit time by machine is called

(@) Complexity (b) Throughput (c) Delay (d) Stages
The basic properties of transaction is called

(a) ACID property (b) RAW property

(c) BEEM property (d) None of the above

A replica manager in gossip architecture contains the main state components is
(a) Value time stamp (b) Update log

(c) Replica time stamp (d) All of the above

Which of the following is a method of analogical problem solving that have been studied
in Al ?

(a) Transformational analogy (b) Derivational analogy

(c) Both (a) and (b) (d) None of the above

What is Artificial Intelligence ?

(a) Putting your intelligence into computer
(b) Programming with your own intelligence
(c) Making a machine intelligent

(d) Putting more memory into computer

Which of the following search method takes less memory ?
(a) Depth-first search (b) Breadth-First search
(c) Linear search (d) None of the above

Which agent enables the deliberation about the computational entities and actions ?
(a) Hybrid (b) Reflective (c) Relational (d) None of the above

Discovery of new information in terms of pattern or rules from vast amount of data is
called :

(a) Data mining (b) Script (c) Spreadsheet (d) None of the above
How many phases of knowledge discovery process is in Data Mining ?

(a) 2 by 3 c) 5 d 6

Data warehouse bus matrix is a combination of

(a) Dimensions and Data marts (b) Dimensions and facts

(c) Facts and Data marts (d) Dimensions and Detailed facts
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100. Which of the following can be an application of neural network ?
(a) Sales forecasting (b) Data validation
(¢) Risk management (d) All of the above
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89.

90.

91.

92,

93.

9.

9s.

96.

97.

98.

99.

100.

% g feediede foven QI Afgsuqar e i STt 2 |

(a) BTEa 3feieh (b) HiFeSRR et

() QM (a) 3TR (b) (d) I H | IS AR

Hefi g wfd e T9 o IcaTeH o TRTHT Y T SEl Sl @

(a) SIfeeTar (b) ¥4 (c) foos (d) T
- T YAV 01 HEATdT &

(a) TH AR (b) HR TSI

c) Iz d) I A Y BE TS

T 3 § fqehld TeYeh T We Tk OTid hidl &

(a) Y EH (b) 37T A

(c) Tiefient oren @ (d)  3uUed gt

AL T 3193 <) S dTefl T STl JTsad difeat fafar g d g s dt 2 2

(a) CTERTHIAE TATATSH (b) SFETH ATt

(c)  (a)TT (b) qHI (d) 3o A Y HE T
anfefRfrret seefiorg w8 2

(a) 3T TS B FFII F IMAHET | (b) 3T & hl WA oh T ST AT |
(c) TRfA <l THHER §MT | (d) R H 3R ATET HART T |
e o 9 o a1 ud oty a A ST 2 2

(a) SU-HETI (b) Fey-w=Lad (o) forfred (d) U | U IS T
I 1 Toie HPRIHA deali TR Thaati o o § forem - fomet sl STresh ot | T8 hdl & 2

(a) ET3lee (b) fifdea c) frsma (d) Suierd 8 & IS T
21T o foremet A § Yo A Frawi o wey 6 720 = 6 @ hEand 8

(a) saEEFm (b)) fore (c) Tese (d) 3R T H IS T
T W3 St Aot feTapadt TE 1 fhay B 8 8 2

(@ 2 (b) 3 © 5 @ 6

2T IAETSH 97 Aieqd T3 8

(a) STEH-IE QT 3T HIEH i (b) STEH-IH QT haed

(c) aH YT ST UICH Hl (d) ST quT feees Heem &

3 B & B =Tt b T ST &) el B 7

(a) UoH BRBIE (b) <1 afereym

(c) Toh Aasmme (d) U @t
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